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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see

four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

Chris finds that specific British accent

—---—— because it’s quite quick.

1) difficult to understand 2) understanding difficult

3) difficult understand 4) for understanding difficult

You have to prepare yourself for the interview in which you ---———-—-- a number of unexpected
questions.

1) must have asked 2) might be asked  3) have to be asked 4) should have asked

Don has such a big house -———-—--—— [ actually got lost on the way to the bathroom.

1) that 2) so that 3) in there 4) which there

When Mary saw her poor test result she was surprised; she was sure that there ——-——-— a mistake.

1) to occur 2) would occur 3) has occurred 4) had occurred

The benefit of investing in the scientific -—----- is definitely economic progress for the whole
country.

1) labor 2) sort 3) situation 4) endeavor

There is concern thatgiant pandas, which are very rare animals, will soon become
1) anxious 2) serious 3) extinct 4) artificial

Generally speaking, a healthy man is not --—----=—--- his breathing.

1) conscious of 2) involved in 3) harmful to 4) concentrated by

To save your life, in times of emergency, you should --———-—-- action as quickly as you can.

1) put 2) take 3) make 4) hold

The only way I could understand the computer program was to fully make an -—- of every
aspect of the program.

1) experiment 2) experience 3) expectation 4) exploration

As 1 noticed that he was about to fall down, I took him next to a wall which he could
---—-—-——--- against.

1) rely 2) lift 3) lean 4) pick up

Your facial --——-- can help to emphasize parts of your speech too: try smiling, or raising your
eyebrows.

1) connections 2) formations 3) expressions 4) instructions

A number of psychologists argue that it is almost impossible to understand the nature of the human
mind because it is more --—-—---—— than previously thought.

1) complex 2) voluntary 3) hardworking 4) emotionless

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and
decide which choice (1), (2). (3), or (4) best fits each space. Then mark vour answer sheet.

[t is generally accepted that women still live significantly longer than men. Various reasons
have been (88) --------------- for this situation, such as the possibility that men may die
earlier because they take more risks. But a team of British scientists have recently found a
likely answer in the immune system, (89) ------------—-- the body from diseases. The thymus
1s the organ which produces the T cells which actually fight against illnesses. (90) ------------
both sexes suffer from the problem of the thymus becoming weak as they age, women
appear to have more T cells (91) -------emmmmm- men of the same age. It 1s this, the scientists
believe, (92) --------------- women better protection from potentially deadly diseases such as
influenza and pneumonia.
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1) released 2) included 3) recalled 4) suggested

1) that it protects 2) it protects 3) is protecting 4) which protects
1) However 2) Although 3) Such 4) Since

1) for lack of 2) in comparison to

3) in a variety of 4) for the condition of

1) gives 2) to give 3) that gives 4) to be giving

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by
four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then
mark your answer sheet.

Passage 1:

For centuries there have been descriptions of unusual animal behavior happening before and
related to earthquakes. In cases where animals show unusual behavior some tens of seconds
before a quake, it has been suggested they are responding to the P-waves. These travel
through the ground about twice as fast as the S-waves that cause most severe shaking.
They predict not the earthquake itself—that has already happened—but only the possible
arrival of the more destructive S-waves.

In the 1970s, scientists thought that a practical method for predicting earthquakes would
soon be found, but by the 1990s continuing failure led many to question whether it was even
possible. Demonstrably successful predictions of large earthquakes have not occurred and
the few claims of success are not accepted by all scientists. For example, the most famous
claim of a successful prediction is related to the 1975 Haicheng earthquake. A later study
said that there was no valid short-term prediction. Extensive searches have reported many
possible earthquake signals, but, so far, such signals have not been reliably identified across
significant spatial and temporal scales. While part of the scientific community hold that,
considering non-seismic signals or precursors and given enough resources to study them
extensively, prediction might be possible, most scientists are not that positive and some say
that earthquake prediction is inherently impossible.

The word "They" in paragraph 1 refers to -—-——----- —.
1) P-waves 2) animals
3) S-waves 4) both S-waves and P-waves

Which of the following can be understood from the passage about scientists' opinion about earthquake

prediction?

1) They do not agree with one another about the possibility of earthquake prediction.

2)They believe that using old methods such as animal behavior observation is very useful.

3) They argue that due to a change in earthquake types, earthquake prediction is not as exact
as it used to be.

4) They state that success in earthquake prediction is more likely if they just engage
themselves in short-term predictions.



18 azxieo 211-A gunadSil i3

95-

96-

98-

100-

The writer mentions the 1975 Haicheng earthquake in paragraph 2 because it ---—=—-,

1) 1s well known all over the world

2) was predicted pretty well and just in time

3) was one of the strongest earthquakes that could have caused much damage

4)is claimed to have been predicted, a claim with which not all scientists actually agree
There is enough information in the passage to answer which of the following questions?

1) How much faster do P-waves travel compared to S-waves?

2) Why is it that S-waves are more destructive than P-waves are?

3) In what cases did scientists fail to predict earthquakes in the 1990s?

4) What kind of unusual animal behavior can be a signal of an upcoming earthquake?

Passage 2:

One of the most important decisions at the time when people grow up and become adults 1s
what job or career to choose. However, with so many possibilities to choose from, this
decision is often a difficult one to make. In addition, there are many factors that may
influence an individual in the choice of a career and some of these may be conflicting. For
example, family pressure, the potential for earning money, and one's own personal interest
may all be factors that pull an individual in three different directions when trying to decide
what career path to follow.

Although it is ofien stated that by the time a person is a young adult they will know what
they want to "do with their life," in fact, the process of finding a career may take a long
time. It 1s not uncommon for an individual to try more than one career before finding the
one that leads to job satisfaction.

Clearly young adulthood is a period of stress. It is a time for raising a family, finding and
maintaining the "right" job, and keeping a balance among self, family, job, and society at
large. It is a period of life that requires great energy. Fortunately, in terms of physical
development, we are at something of a peak during our 20s and 30s.

As Levinson (1986) has stated, "early adulthood is the era of greatest energy and
abundance and of greatest contradiction and stress."

Why does the author mention "family pressure, the potential for earning money, and one's own

personal interest," in paragraph 1?

1) To give examples of adult responsibilities

2) To explain why adults need to choose a career

3) To introduce some of the factors that influence an adult's choice of a career

4) To discuss the positive and negative effects of every career choice

The word "one" in paragraph 1 refers to -——-——----- ;

1) factor 2) career 3) decision 4) possibility

Which of the following is NOT true, according to the passage?

1) Early adulthood is a period in which adults undergo stress.

2) Individual young adults do not all exactly know what they want to do with their life,

3) Keeping a balance among self, family, job, and society can be a source of stress for
young adults.

4) It is highly unlikely for a young adult to change jobs before he/she starts the one he/she
really comes to love.

The passage is primarily intended to ————— .

1) inform 2) make a suggestion

3) introduce a finding 4) provide advice



